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100%

X (M
m
2.3
4)
100kN
2
2
(gem?) (%)
3.04 0.49 6.66
3
3
TS A 0006
3
m 4
3
(g/cm3) %)
20 2.47 5.25 7.23
40 2.65 3.71 6.82
60 2.81 2.38 6.56
80 2.94 1.53 6.50
100 2.94 1.53 6.38
4 m
(%)
20kN | 40kN | 60kN | 80kN | 100kN
20 1.7 3.2 4.7 5.9 8.2 | 1.6059
40 0.8 2.1 2.7 4.3 5.0 | 1.8720
60 0.7 1.7 2.2 2.7 3.5 | 2.0657
80 0.6 1.0 1.6 2.5 3.1 | 2.0389
100 0.3 0.7 1.0 1.3 2.2 | 2.1533
4 20kN
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3
3.2
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( )
6
6
(glem?) 1.22 3.04
24 12.68 0.49
(%) 24 34 —
(kg/l) 0.77 0.82 1.77
(%) 63 65 58.4
3.3
7 7
AL- 100
AL- 0
7
(%)
(g/cm) (g/cm)
AL- 100 1.37 1.22 12.68
AL- 75 1.54 1.42 8.37
AL- 50 1.80 1.68 7.31
AL- 25 2.42 2.35 3.34
AL- 0 3.06 3.04 0.49
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80KkN | 160kN | 240kN | 320kN | 400kN
AL- 100 | 58| 158| 243| 307| 356
AL- 75 45| 139| 197| 256 311
AL- 50 2.7 85| 142 21| 235
AL- 25 1.6 37| 104| 135| 157
AL- 0 0.5 1.9 4.1 69| 10.1
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